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Quant Mega Quiz for SSC CGL Tier-II

Q1. Giving two successive discounts of 40% is equal to giving one discount of %.
2% JAFAFTITT__ % F TEHEFETHIOaCE

(a) 80

(b) 96

(c) 64

(d)72

Q2. 1 packet of biscuits costs Rs 16 but a pack of 4 of the same packet of biscuits costs Rs 56. What
is the effective discount (in %) on the pack?

faege F 1 ¥ N F9T 16 T3 T AfFT To faege F 4 5 i F97 56 T ) 3% 9 794 T2 (% #)
AT R?

(a) 8

(b)10

(c)7.5

(d) 125

Q3. A person wanted to buy some chairs whose cost was Rs. 200 each. Seller offer him a discount
such that after buying 12 chairs, the person have to pay the cost of 10 chairs and rest 2 chairs at
Rs. 80 each. What is the overall discount percentage?

T AE T FrAAT @1 Argar AT OrEH T&F F7 o7 200 T 97| T S/ e T AT § 30 ThR
12 At @i 9, =RE T 10 FREAT F ToF T A FEAT gRIT T Irbr $it 2 FEAt 73+ 80 €IC #
TS IHHT THT Fe T 747 82

() 6%

(b) 9%

(c) 12%

(d) 10%

Q4. A ruby stone was bought for Rs. 1600 at Jaipur. A sum of Rs.

2400 was spent on making a ring with the ruby stone. It was MEMORY BASED
advertised for sale in Bombay for Rs. 7800. If a discount of 10% Bilingual Q

was given, then the percentage profit made was:
1600 TI § AR & TH T T AT ATAT 8. 2400 TG Fi Tl
AT T F TF SRET T W @S FT AT . e F et 6 F o SSC MTS 201

7800 ¥ FT fa=maa faaT smar &, 7% 10% $t ge & sy g, av st TIER-I

% ATH AT HIo.

(a) 55% 1Full-Length Mock
(b) 68.5%

(d) 80%
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Q5. If a website is selling smartphone at Rs 18,000 which is marked at Rs 25,000, then what is the
discount (in %) at which the smartphone is being sold?

I Fs AT 18,000 TIT | TIEHIT o9 Tl g, 91 25,000 T # FHfewa G mar g, a7 =ewie e
TTSra g I o497 ST T 82

(a) 25

(b) 22

(c) 28

(d) 20

Q6. A shopkeeper buys a things in Rs. 2400 and he decided the marked price in such a way that
after giving 10% discount on marked price, he can earn 20% profit. But at the time of billing, by
mistake he gave 10% discount on selling price instead of marked price find the difference
between both discounts.

T% THMER 2400 TIC § TF 967 @UAT § < S99 RAq Io9 39 aE 4 a9 har & Fifaa o w
10% T I F S, 98 20% ATH FHT ThdT g1 A AT & T, Tt & Sa= ~rivga o F aoy faw
T I 10% FT Fe <, TAT Gt & o9 i< A1

(a) Rs. 22

(b) Rs. 36

(c)Rs. 30

(d) Rs. 32

Q7. A Medicine merchant marks his goods at Rs. 300 and allows a discount 25%. If he still gains
12.5%, then the cost price of article is:

T AT AT a7 91 #1300 % 9 sifaha wLar g 3 G 25% F Y 2@T 3| Il a8 e 1 12.5%
AT T FHAT g, AT TEG 0T 7 T FT 87

(a) Rs. 220

(b) Rs. 200

(c) Rs. 240

(d) Rs. 260

Q8. If on an item there is 12% discount on the marked price of Rs 10,000 but the item is sold at Rs
8,360 only then what additional discount (in %) did the customer get?

gfe fat a%g 9 10,000 T & ™fETd o7 W 12% &t ge §, AfFT avg Fa« 8,360 TqF § 9T SATAT & ar
e 1 Y AT g2 (% #) 17§57

(@6

(b) 7

(c)5

(d)8
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Q9. A seller gives a discount of 20% on a pen and sells it at Rs.

960. Had he not given the discount, profit would have been Ssc CG L TI ER'"
40%. If he wants to gains a profit of 54% on the cost price of
watch, what should be selling price? P RI M E

FrE fA%haT T A9 U 20% it F2 34T § i T 960 FIT U I §. 85+ Total Tests
It 98 FIE e TG T, ¥ AT 40% Frar. IR 98 T f AN 7 F

v~ 15 Tier Il Quant Previous Years’ Papers
T 54% T ATH TTH FHTAT ATedl g»?'h- [EER] G CRIERL '&;““ aul%q? v 14 Tier Il English Previous Years’ Papers
(a) Rs. 1320 v20 Advance Maths for TIER-II
v"20 SSC CGL Tier Il Quantitative Aptitude

(b) Rs. 1400 20 SSC CGL Tier Il English Language
o
s.

Q10. A shopkeeper marks up his wares by 125% and offers 25% discount. What will be the selling
price if the cost price (in Rs) is Rs 640?

T THRT 125% FYT TH FIN AT HT (ATRAT HLAT 5 M 25% Fe T FAT 8l IR FT T (T H) 640 %
g T ok e =/ e

(a) 1080

(b) 1000

(c) 920

(d) 860

Q11. 4726 soldiers were divided in two groups for arranging each group in a solid square. It was
found that there were some excess soldiers in the second group. Number of rows in the first group
was 32. So the minimum number of soldiers in excess in the second group is:

TAF G Bl T o1 a9 § A eqd HLd & 9T 4726 fF=1 &1 4 ggi # fosriorg B @ om ag a=
T T g THE # 3 afa i 4f® 9 uge aqg | dfReat i e 32 off. 9 g aeg | afew &t it
ATH T et 52

(a) 32

(b) 41

(c) 100

(d) 102

Q12. In N is the smallest perfect square which is exactly divisible by 10, 12 and 25, then the
quotient obtained when N is divided by 25 is

Ife N =AqH quf -1 g S 10, 12 3 25 & quf farfora g1 irar 8, @7 N &iv 25 & | Fi3d 9% AT 747
gHTT?
(a) 16
(b) 25
(c) 36
(d) 64
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Q13. When a heap of pebbles is arranged into groups of 32 each 10 pebbles are left over. When
they are arranged in heaps of 40 each, 18 pebbles are leftover and when in groups of 72 each, 50
are leftover. The least number of pebbles in the heap is

wTa et Fhe & ST FT 32 % gg § aeuq fhar AT § a6 10 F9E A I9d §. TR S5 40 F U H @
ST AT 18 FiFg F9d g 3T ST T8 72 % 9Yg A TAT 1A' g a¥, 50 AT 94 §. e | Fohe il ~IAqH &7 F:97
8?7

(a) 1450

(b) 1440

(c) 1418

(d) 1412

Q14. A man buys three houses, the second one at twice the price of the first and the third one at
twice the price of the second. He manages to sell the first and the second both at a profit of 20%
but incurs a loss of 10% over selling the third. Overall, he has

T AHt F AT 5T GO, T FT T0F T8 & Yo7 8§ AT § i< a3 T ToF gaL & ToF FT AT & 59
TE 3T L T 9 I 20% FT ATH Gl 3 T ¥ I8 39 10% ¥ 1A 2. T FAemane, 59

(a) Got a profit less than 3% / 3% | ¥ ATH gl

(b) Incurred a loss of 3%/ 3% T gT+

(¢) Got a profit more than 3%/ 3% & 3tfers ATT

(d) Incurred loss less than 3%/ 3% ¥ 37T g1 g

Q15. On selling a pen at 5% loss and a book at 15% gain, Karim gains Rs. 7. If he sells the pen at
5% gain and the book at 10% gain, then he gains Rs. 13. The actual price of the book is :

TH I I 5% BT S TH TEqH Dl 15% ATH G 997 I FUAF &l 7 €. FH ATH gall. If< a8 AT Al 5% A9
T AT g S TEqh Dl 10% ATH I I9AT &, AT S° 13 F. FT ATV gIAT 8. T&qH T qreaias o7 g :

(a) Rs. 80

(b) Rs. 90

(c)Rs. 100

(d) Rs. 120

Q16. ABC is right angled triangle, B being the right angle. Mid- YRN8
points of BC and AC are respectively B’ and A’. The ratio of the
area of the quadrilateral AA’ B’'B to the area of the triangles ABC
is

ABC FHFIT (ST &, B U< a9 £, B’ 3 A’ %9 BC i< AC ¥ #eq HSSC PRIME
g §. IqTHT AA’ BB F &%t 3i< FAs{st ABC & &15het T QU1 §

Validity 1 Year

(@)1:2 85+ Total Tests
(b)2:3

(c)3:4 20 Full-Length Mocks
(d) None of the above/ EGE T q@ 65+ Section-wise Tests
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Q17.1f D, E and F are respectively the mid-points of sides BC, AC and AB of a A ABC. IfEF = 3 cm, FD
=4 cm and AB =10 cm, then DE, BC and CA respectively will be equal to:

Byt ABC & 32 D, E iR F #H4T: BC, AC 3iX AB % #e&¥ {dg §. af< EF = 3 &, FD = 4 947 X AB =10 &+t
&, A7 DE, BC 3fiX CA ##eT: faher & Sree g1 2

(a) 6, 8and 20cm

(b) 10/3,9and 12 cm

(c) 4,6 and 8 cm

(d) 5, 6 and 8cm

Q18. The area of a circle whose radius is 8 cm is trisected by two concentric circles. The ratio of
radii of the concentric circles in ascending order is :

S g & &% foraeht oA 8 93t § O a1 dahfera a1 gTRT GwiTSI TRt STTaT 8. Sehfed 91 o SIqaTa
T AT FHG -

(@1:2:3

(b)3:3:5

(€©)1:V2:V3

(d) V2 :v/3 /5

Q19. The volume of a solid right circular cylinder is V, the whole surface area is S, height is h and
radius of base is r. Then the ratio V(1/h+1/r) : S equals

et AR 319 FATHIL 99 FT AAAT V 8, SR T TSI SR S §, Tqh! S4aT8 h g X AR rg. av
V(1/h+1/r) : ST AUTA & :

(a)1:4

(b)1:3

(c)1:2

(d1:1

Q20. If area of a parallelogram with sides p and q is R and that of a rectangle with sides p and q is
S, then:

I p T q ST ATt TRelt FHT=a TS HT &A% R § A< et amama o Y st p 3% q § SHr1 ST
S, ar:

(a)R>S

(b)R<S

(c)R=S

(d) None of these/ TAH & Fls Ag!

Q21. Ayisha's age is 1/6th of her father's age. Ayisha 's father's age will be twice the age of
Shankar's age after 10 years. If Shankar's eight birthdays was celebrated two years before, then
what is Ayisha 's present age.

AT HT T 3T AT HF ST AT 1/6 g1 10 I9 F T SAFLAT & AT it IF AT FiT ST HT T[T FRIT SR
IR T ATSAT TPATaad &l |T Tge AATAT AT AT, AT I Sl TAATT g 74T 87

(a) 10 years/ a9

(b) 12 years/ a9

(c) 8 years/ a9

(d) 5 years/ a9
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Q22. The present ages of A,B and C are in proportions 4 : 7 : 9. B
Eight years ago, the sum of their ages was 56. What are their ENGLISH

present ages (in years)?

A, B 3T C &t Ia9TT g 4: 7: 9 F AqITT § g1 313 I A, ST g

T AT 56 9T STH THAT A (T9T F) 7T 82 SSC CGL TIER-II

(a) Insufficient data/ T9ITH 2T

(b) 16, 30, 40
(c) 16,28 40 BOOKS KIT
(d) 16,28, 36 Ace - Advance Maths | Arithmetic Maths

English | 20+ SSC CGL Tier |1 2015-18
Previous Years' Papers Book

Q23. 39 persons can repair a road in 12 days, working 5 hours
a day. In how many days will 30 persons, working 6 hours a
day, complete the work ?

39 =fxF A & 5 & w1 # F 12 A0 # UF 9% T 9007 FX g &1 30 =F ¥AfT 6 ¥ F19 7
e ot ® 19 o 47

(a) 10

(b) 13

(c) 14

(d) 15

Q24. Tea worth Rs. 126 per kg and Rs. 135 per kg are mixed with a third variety of tea in the ratio
1:1:2.If the mixture is worth Rs. 153 per kg, what is the price of the third variety per kg ?

126 ®9T o et sfik 135 w9 afa frar ima F =190 1: 1: 2 % S § 99 fF faQ e F 9
T strar g1 afR fsyor &1 e 153 wuw wia fFr g, el e = aia G o = 82

(a) Rs.182.50

(b) Rs.170.5

(c) Rs.175.50

(d) Rs.180

Q25. If 6 years are subtracted from the present age of Ajay and the remainder is divided by 18,
then the present age of Rahul is obtained. If Rahul is 2 years younger to Denis whose age is 5
years, then what is Ajay 's present age ?

af sromr Yt A AT A 6 7 T S £ o A Ay 18 & P B wmar &, 3 e B A
TTH gl gl TS g S & 2 A1 FleT § et 37 5 99 g, a7 99 Sl a1 S F47 272

(a) 50 years/ad

(b) 60 years/ a

(c) 55 years/ T

(d) 62 years/ I

Q26. The difference between the value of a number increased by 12.5% and the value of the
original number decreased by 25% is 30. What is the original number ?

et ST & g7 ® 12.5% A IiE 3% g0 9ar F g5 | 25% ¥ FHT F S F7 siq< 30 g1 G &7 747
a?

(a) 60

(b) 80

(c) 40

(d) 120
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Q27. A starts a taxi service by investing Rs 25 lakhs. After 3 months, B joins the business by
investing Rs 40 lakhs then 4 months after B joined, C too joins them by investing Rs 50 lakhs. One
year after A started the business they make Rs 2,73,000 in profit. What is C’s share of the profit (in
Rs)?

A, 25 TG 9T FT 99T F8 TF ST 94T F FQT gl 3 HgIH & 978, B, 40 A9 T F7 e G sqqq
# erTfoer g St §, {6 B % anfie g9 % 4 9gi 1%, C 3t 50 A1@ T4 FT e F3h S99 € AT 81 AF
AT L€ A & TH 9 918 375 2,73,000 T FT ATH AT 8. ATH § C it @ F=1§ (T H)?

(a) 100000

(b) 1,25,000

(c) 75000

(d) 1,50,000

Q28. A poultry farm has only chickens and pigs. When the manager of the poultry counted the
heads of the stock in the farm, the number totaled up to 200. However, when the number of legs
was counted, the number totaled up to 540. How many chickens were there in the farm ?

T TIoe! BT § Fad GEIGT 3T G §1 ST qIoT & Tae® 7 @q § €21 % g At [dt 6, I F G941 200
off| gTeriteh, ST 40 ot AT ol AT T TS, AT T dedr 540 =) B # Fhaw gt off?

(a) 70

(b) 120

(c) 60

(d) 130

Q29. Three pipes A, B and C can fill a tank in 6 hours. After working at it together for 2 hours, C is
closed and A and B can fill the remaining part in 7 hours. The number of hours taken by C alone to
fill the tank is:

q1 f99 A,B 3T C [T &% it 6 6¢ | X 9% 3. $9 I T 91 2 = FF FLA F 9%, C il §¢ % (<41 J1av
T AT B AT F 7 5 H WX THd §. STdher C I & WA A Fohaam a9 12

(a) 10
(b) 12 A\ adda:
X publications
(c) 14
(d) 16

THE CRACKER

Practice Book for

Q30. A manufacture offers a 10% discount on the market price
of a machine and yet makes a profit of 10%. If he gains Rs. 900 TRIGONOMETRY &
per machine, what is the market price of each machine ? HEIGHT & DISTANCE

.qq; ﬁ_q_fa_r Q’EF IrQﬁ';r a’; II@T q_{ 10% ﬁ' g&r q’a‘r;r m‘r g SﬂT -ﬁ,)—{ Useful for SSC CGL | CPO | CHSL & Other Exams
ft 10% FT AT FATAT g1 I 8 900 FIT T A= AT FHTGT § AT

ENGLISH EDITION INCLUDES

TAF TR & TR g7 FT 8?2 990+
(a) 9000 T

(b) 12000 | 0

(c) 10000 Toush vl éo,,:‘m":
(d) 11000 e
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